@ -1 +1) @ (x+1)%(x-1)
® (x=1)(x+1) @ (x-1)°
® (x+1)3

B -x+1l=xx-1)-(x-1)
=(x-1)(x*-1)
— (- 12+ 1)

Lf) =(x-1D)(%-1) = (x—1)3%(x+1)
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g 2x% + 32 + x+ 15 2x - 1 2 YE 5 YA & &A=
udet A9

@ x24+x+1,1 @x2+x+1,2

@ 2x2+2x+2, 1 @ 2x2+2x+2, 2

® 4x>4+4x+4, 4

oA 203 + 2+ x+ 15 2x - 1 B Y 5 YA E 2442
O(x), RoJZtaL o 2x3 + 42 + x+1 = (2x—1)Q(x) + R

— (x-1) 200 + &
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3. 2012 =k=t T o, 2013 x 2011 S k = JERHH?

@ k% +k @k2—1 @ K+k+1
@ K-k+1 ® k2 -k

2013 x 2011 = (k + 1)(k — 1)
—Kk2-1
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4.

@)-1 ® 0 @ 1 2

@ -2




5. @b+ b%c-b3 - d?cS A5 E)5HH?

@ (a+b)a-b)(b+c) @ (a-b)(b-c)(c+a)
@) a-b)a+b)b-c) @ (a—b)(a+b)(c—a)
® (a-b)(b+c)(c-a)

a’b + b*c - b3 - d’c
=a?(b-c)-b*>(b-c)
=(a-b)(a+b)(b-c)
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X =2x—y? 42y 5 AFRAFHEY, (x+ay)(x - by +c) 7F =it
ol W, a, b, cE T=AHE & A2




7.

(¥ +x)(x* + x+1) - 65 A5-EoloHH?

@(x—l)(x+2)(x2+x+3) @ (x-1)(x+2)(x* +x-3)

@ x=-2)x+1)(*+x+3) @ (x-1)(x+2)(x*-x+3)

® (x+1)(x-2)(x-x+3)

@

+x = X2} 5pAk
(% ) =X(X+1)-6

=X2+X-6

=(X+3)(X-2)

=(x+x+3)(x*+x-2)
=(x-1)(x+2)(x*+x+3)




(x4 —8x2 - 9) + (x2 - )% A Atotof gt

@x2+1 @ x*-1 @ 2+2
@ x%2-2 ® x*+3

x* - 8x2 —9—( 9)(x2—|—1)
— 2t




9.

x4+ 4x3 = 2x% + ax + b7} o|AHA 9] A FA] o] H of,
29

®a=12,b=9
® a=12, b=-9

® a=9,b=12

B

4 -2x2 tax+b=(x>+px+q?o2 FOH
o) 4] Sme

xt+2x%(px + q) + (px + q)?

= x* + 2px3 + (p? + 29)x* + 2pgx + ¢?

T} Al 4E B wsHH

2p =4, p?> +2¢ = -2

p=2q= -3 9] A

a=2pg=-12,b=¢*=9




10.  xofl et ohadAl 3 - 2x2 — x4+ 27} (x4 a)(x + b) (x + ¢) = Q155
2], a® + b% + 29 F2? (F, a,b,c=25F)

® 5 @ ® 7 ® 8 ® 9

W22 -x+2=(x+1D(x-1(x-2)
A+ +2=(-1)2+12+22=6




AL N = pig"r B 2SR o, ] oo e (n+
1)(m+1)(I+1)°lck. o] ], 38% +3-382 + 338 + 12] 2] ok
MNe=?

® 974 @ 1270 @16711 @ 247  ® 327

B ,

38 = x 2} 5},

382 +3-382+3-38+1=x+3x2+3x+1
_(x+1)3
_393
_133‘33

(B+1)(3+1)=16




12. o5 F dEsi7t

i

A

1=M?

o

@ (x=y)?-wy(y-x) = (x=y)(x—y+xy)

@ 3a% -27b%* = 3(a + 3b)(a - 3b)

@64a3 —125 = (4a + 5)(16a% - 20a + 25)

@D (2-x) (2—x+1)=6=(2-x+3)(x+1)(x-2)

® 2x2-5x+3=(x—1)(2x-3)

64a’ — 125
= (4a)’ - (5)°
= (4a - 5) (164> + 20a + 25)




13. ab(a—-b) + be(b—c) + ca(c — a)= AF2olctH?

@—(a—b)(b—c)(c—a) @ -(a+b+c)la-b-c)
® —(a+b)(b+c)(c+a) @ (a+b)(b+c)(c+a)
® (a=b)(b-c)(c—a)

~&B

A7k aol Hit WA= ATt &, Q=3
ab(a —b) + be(b - c) + ca(c — a)

s

.

= (b-c)a® - (b*> - c?)a+be(b-c)
=(b-c)a®-(b+c)(b-c)a+be(b-c)
= (b-c){a® - (b+ c)a + bc}

= (b-c)la=b)(a=c)
=—(a-Db)(b-c)(c—a)




14. a, b, c7tAZFE S A o] ol S vehd of
o]

@ B=120° =44E @ HAHAY
® B=150°A =444 @)olsHdad

a’b - a*c + b%c - b?a + c*a - c?b
=a?(b-c) +a(c+b)(c—b)+bc(b-c)
= (b-c){a®+ (c+b)a+bc}

= (b-c)(a+b)(a+c)
wb=c(ra+b#0, a+c#0)




15. a+b-2c=1,a-b+3c=34 9, I} ZFa+ab+ 2 q°l TSt
4oz Ve e

@ (a-8)(a-2) @ (a+8)(a-2)
® —(a-8)(a-2) @ —(a-8)(a+2)
®)—(a+8)(a-2)

a+b-2c= N
a—-b+3c=3 @)
O+O°lA 2a+c=4

Lc=-2a+4 -.-©

©& Ol tidstd b= -5+9
na+ab+c*=a+a(-5a+9)+ (-2a +4)?
= —a* - 6a + 16
= —(a® + 6a — 16)
=—(a+8)(a-2)




